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x3 = 2a3

2 4

x2(a− x) = bc2

(a− x)y =

ab ax2 = c2y



x3 = a x3 + bx = a x3 +

a = bx bx+a = x3 x3+cx2 = a x3+a =

cx2 cx2 + a = x3 x3 + cx2 + bx = a

x3 + cx2 + a = bx x3 + bx + a = cx2 cx2 + bx + a = x3

x3 + cx2 = bx+ a x3 + bx = cx2 + a x3 + a = cx2 + bx

1815

1931

1 75

x3 + ax = b (1)

x3 + c2x = c2h (2)

c2h c c h
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x2 = cy (3)

y2 = x(h− x) (4)

x 3 4 y 2

6 1

2

BO = h BPO AOD ⊥ BO O

OA = C POQ

P PD ⊥ AD PE ⊥ BO PD 2

PD = x PE = y

PE2 = y2 = EO · BE = PD ·BE = x(h− x)

PD2 = x2 = OA · PE = cy

3 4



1851

x3 + ax2 + bx+ c = 0 (5)

x2 = py (6)

5

pxy + apy + b2x+ c3 = 0 (7)

6 7
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269 11 194
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ABCD DA CB AB DA = CB

∠C = ∠D ∠C ∠D
1 2 3

∠C ∠D
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